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Addition and Subtraction with
Rational Numbers—Skills Practice

Add integers.

“5+(-3)=_ "8
9+ (-4=_5
-17+16=__"1
14+ (-16)=__—2

B 19+36=_17

@ - 7+14+7+10=__14
B s+14+()+6=_10
B 7o+ (24=_5

B s+n=_3
®-s6+12+-12)+6=_0
B 45+ (-33=_ 12

15+ (=3)+(-2)+11+9=_ 30

mnmw pracice

FormA
Ut (4+6+(16=__0
Bis+n+E3=_5
@ -5+ -17)-_ 35
B 6+ 7+ a=_ 27

M1o+13+-9=_23

B -2+-n=_-1°

@ -7+ -19=_-36
B@23+14+(-3=_34

B 9o+43+E-m=_23

ED 16+ (—20=_-10

B 18 +19+ (-8 +(-19)+7=__17
7+ +(6)+13+4=__ 4

©Curriculum Associates, LLC ~ Copying is permitted for classroom use.

Addition and Subtraction with
Rational Numbers—Skills Practice

Add integers.

6+ (-4=__"10
7+ (13)=__4
—13 + (-16) = __ =29
15+ (-18)=__—3
B -14+32=_18
—14+18+4+10=__18
-16+(-12)=__ —28
86+ (—12)=__ 74
—4+12=__8
-8+ (—2)=__—10
13+ (-13)=__—26

16+ (-4 + (-2 +17+13=__40

©Curriculum Associates, LLC ~ Copying is permitted for classroom use.

Form B

16+ (-8 +(-2=__6

BB+ +7+¢-17)=_0

B s8+17=__ -1

B B+9+2=_—2°

M+16+(-8=_26

“13+ (-4 =_ 17

@B s5+13+5+7=_10

B22w+17+-6=_37

B 2+64+(-18)=__424

B4+ (5+(9+10=__0
B+7+H+(7+8=_18
7+ 1)+ 0 +17+15=_15
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Ad n and Subtraction with
Rational Numbers—Skills Practice

Subtract integers.

—4-8-16=-28

11— (-15) = 26

14— (-17)=_31

Bo-7-(-9-3=20

T4 -4-(27)-5=_25

N = (=5 =9 —(-13) — (-5 =_3_

@F.um, pracice

-8 —15=—23

@ —46—21=—-67

55 — (—29) — (—45) = 129

25— 25 =50

FormA

B s-19=_6_ B s-4-(-8=-4 B17-8=25
B6-(-7-(-3-16=0 @ -12-4==16 B -3-(-7=-6
6—(-3)=_9 B-s5--n-5=17_ @ -62-(11)=_-51

B4-17-(6-3=-10

41— (-13) — 21 = 33

8—(~3)— 10— (-12) — (-7) = 20

©Curriculum Associates, LLC ~ Copying is permitted for classroom use.

Ad n and Subtraction with
Rational Numbers—Skills Practice

Subtract integers.

—4—(-19)=_15

O -3-n=-24 Bs--6-(-4-18=9 @ -16-(-98=-8
2-(-5=_7_ B -+-19-(4=18 @ -73--n=-62
M -3-6-17=-26 -7-14=—"21 12— (-13)= 25
Be-19-(2-1=-"19 @A -41-38= 79 B 56— (—17)—46=_27_
B 13-(19=_32 @3s-3n-(65=131 @18-3-(-2-7=_10

12-(—6=_18

—8—(-16)— 6 — (-38) = 5=_35_

-13-(-12)—15— (-8 —3=—11

©Curriculum Associates, LLC ~ Copying is permitted for classroom use.

7-9-(N=_22

-15—-10= _—25

Form B

18— (-9)=_27

“—(-1m-21=_4

—17 = (-19) = (-18) — (1) = (-7) = _28_

—4—(-8)—4—(-12)—8=_4
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Addition and Subtraction with
Rational Numbers—Skills Practice

Add rational numbers. FormA
B 725+867=_ 142 72+7+[7%)=76 8 s+;- -43
@scoa- 2 B-jef- o @i
154+ (—16)= _—06 (8] —1§+§= ~5 9] —8+(—3%)= -1
1804 +79=_—1014 @@ -1+ (-425=_—15.25 —%Jr(_%): —1§
®2+(-1= 3 @53+ (164 =_—111

@i+ (-L)+ (3= 1 @ s75+10=_425

-89+ (72 +189=_28 B 42+ 379=_"79
1

= _56)=_—15.6 3lyg= "¢

35+ (—13.5) + (=5.6) 35+ (-8 6

Fluency Practice

©Curriculum Associates, LLC ~ Copying is permitted for classroom use.

Addition and Subtraction with
Rational Numbers—Skills Practice

Add rational numbers.

@ s25+o7m= 451 (3= _10
Bo+(-82=_—22 83 ~a
@uotm=_21_ @ -3+(-3+1g= o

~16.08 + 5.2 = _—10.88

—91 + (-43)+ 191 =_ 57

45+ (-82) + (-145) = —18.2 —4%+

©Curriculum Associates, LLC ~ Copying is permitted for classroom use.

—12 + (-6.75) = ~18.75

@ 36+ (—188) = —152

M@ 425+10=_575

@ 41+(28=_"69

1
7= 113

Form B
“6+3= 5
(6] 72%+% = —1%
8 o+ ()= -105
@ 3+(-
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Ad n and Subtraction with
Rational Numbers—Skills Practice

Add and subtract rational numbers.

04 (-

1
775—1425=__ —6.5

87— (-52=_ 139 B¢ 9= —230r-3 B62-(68=__ 13
@uo2-45=-_742  @@2a-sl+73-= 13 B®as2-176+58=_—76
—126+ 42— (-26)=___—58 @ 5i-st+152= 5
65+ 1 —(-65=__ 11 B n+3-(-3= n

@ 3+2-(22= 4 B -61-6-(6n+16=__10

125 — 275 — (-375) + (-725) = __ 5 8t -3 +(-3-(12)= 8y

-165-1=__—275

8l-(a= 4

FormA

©Curriculum Associates, LLC ~ Copying is permitted for classroom use.

B 57--162=_05

Addition and Subtraction with
Rational Numbers—Skills Practice
Add and subtract rational numbers. Form B
ss—(-33)=_ o ~145-8=_—225 975 —1625=_ —65
1
I-(-3)=_ 1 6l - (2= 4 @ 43— (n=_ 28
4
92— (-86)=_ 178 @42-71- % @47 (93=_14
2
@ o84 —85=_134 @3-l +el- 73 Bo7-192+33=_"92
—6. 1 1 1_ 1

~134+39 — (-34)=_—61 6375165 = 2
—45+ 13— (—45=__13 —41-8—(—41)+18=__10

2 434,33 _(33)= 1_ - —(=2)=
@2-13+33-(-3Y 6 @i-9+2-(-2 1

3

3_5 ) D B R 9= _ o . - 15

Bi-3 +| 8) (—13) s 4.25 - 16.75 — (~0.75) + (-3.25) i

©Curriculum Associates, LLC ~ Copying is permitted for classroom use.
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Addition and Subtraction with
Rational Numbers—Repeated Reasoning

Find patterns in adding integers.

SetA
B 6+ (48 +6=_ 48
B 6+ (48 +16=_ 48
B 26+(49)+26=_ 48
@ 36+ (48 +36=_ 48
SetB

—6+(—48) + 16 = _—38

@O 6+ (148 +16="138

—16 + (—48) + 6 =_—58

16 + (—148) + 6 = —158

—6+(—148) +6=_—148
@ -6+ (-148) +16=_—148
B 26+(-148 +26=_—148

@ 36+ (-148) +36=_—148

—16 + (—48) + 26 = —38 26 + (—48) + 36 = —38

16+ (—148) + 26 = —138 @ —26 + (—148) + 36 = —138

B 26+ -48)+16=—-58 @ —36+(—48) +26=_—58

@ 26+ (—148) + 16 =158 @B —36 + (—148) + 26 = —158

Describe a pattern you see in one of the sets of problems above.

A s will vary. Stud may see in Set A that they can pair numbers by combining the

same positive number with the same negative number to get zero. The sum is the other

addend in the equation.

@F.mw pracice

©Curriculum Associates, LLC ~ Copying is permitted for classroom use.

Addition and Subtraction with
Rational Numbers—Repeated Reasoning

Find patterns in subtracting integers.

SetA

@ o-3-(9=_-37 B 9-137-(-9=_-137_
1937 — (<19 = __—37 @ 19-137-(19=_~137

29— 37— (29 = _—37 B 29-137-(29=_—137_
-39-37— (-39 =_ —37 B 39-137-(39=_-137

SetB

-9-37—(-19) = _—27 —19 —37 — (-29) = _—27 —29 — 37 — (-39) = —27

B 9-137-(-19 =127 —19 - 137 — (-29) = —127 @ —29 — 137 — (-39) = —127

-19-37-(-9=_—47 @ —29-37-(-19) =47 @ —39-37-(-29) =47

—19 — 137 — (-9) = —147 —29 — 137 — (-19) = —147 @@ —39 — 137 — (-29) = —147

Describe a pattern you see in one of the sets of problems above.

Answers will vary. Students may see in Set A that they can pair numbers by subtracting a

negative number from the same negative number to get zero. The difference is the third term

on that side of the equation.

©Curriculum Associates, LLC ~ Copying is permitted for classroom use. Fluency Practice @
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Ad n and Subtraction with

Rational Numbers—Repeated Reasoning

Find patterns in adding rational numbers.

SetA

—09+49+(-40= 0 —-08+ 49+ (-4.0 = 0.1 —07+ 49+ (-4.0) = 02
@O 06+49+ (40 =03 —05+ 49+ (-40) = 04 @ —04 +49+ (—4.0) = 05
-03+49+ (40 =06 @ -02+49+(-40 =07 @ -01+49+(-40 =08
SetB

—09+59+(-50)=_0_ —09+58+ (50 = —0.1 B —09+57 +(-50 =02

B 09+56+(-50="23@ —09+55+(-50="04 @ —09+54+(-50) =05

—09+53+(-50="06@ —09+52+ (50 =097 @ —09+51+(-50 =08

Describe a pattern you see in one of the sets of problems above.

Answers will vary. In Set B, students may see that as they decrease the positive addend by 0.1,

the sum decreases by 0.1.

@Fluen(y Practice ©Curriculum Associates, LLC ~ Copying is permitted for classroom use.

Ad n and Subtraction with
Rational Numbers—Repeated Reasoning

Find patterns in subtracting rational numbers.

-2
-1
-5
-35
-4.5
-85
“1—4=__—5
QG +-1=-_"5°
@ n-os= 115

SetA

Bs-2-_2 B8:2-4-
Bec-5=_ 1 Bs5-6=_ 1
Bs-3=-_5 @3-s8-_ 5
Bs5-15=_35 B15-5=
B7-25=_45 m25-7=

@ n2-35-_85 B3s-—12=
SetB

0 3-4+=_"7 B2 4+=_-F6

O -4+-3=_"7 B +-2=_—°

@ -13-o05=_7135 B 12-o05=_7125
Mos-—13=_—125 @os-12=_"115

Describe a pattern you see in one of the sets of problems above.

Answers will vary. Students may see in Set A that the difference of a — b is the o

difference of b — a. For example, 4 —2=2and2 — 4= —2.

05-11=_—105

osite of the

©Curriculum Associates, LLC ~ Copying is permitted for classroom use.

Fuency p.m@

—
c
o
3
(s}
<
-
b
Y
N
.
(o)
)




*GZ0Z/0£/9 uo saJidxa 201nosal siy] "umolig 'y Aq papeojumoq

‘pontundd jou st Suikdo) DT ‘SIIBIOSSY WN[NOLLIND G

ad130e1d AdUaN|4

sl

o
=3
QU
[a}
=3
[a)
o
Q
=3
a
o
=X
o
o
)
3
w
o
s,
=3
@

Multiplication and Division with
Rational Numbers—Skills Practice

Multiply rational numbers.

e
05X (-07)=_—035_
IX(-4)=__28

5x (-8 =_"40
—10x14=_-140

100 X (-9) = _—900

—0.5 X 0.1 X (—0.2) X (—0.4) = _—0.004

@m,m pracice

FormA
2% (-5) X 3% (—4=__120
1.5_ _5
*gxg— 36
B sx7=_—56

@ 7x3)x(a=_-84
33

B 2x-6x-3=_736
B —x2x(-}-
B ixixie i
® b ixix(- ¥

©Curriculum Associates, LLC ~ Copying is permitted for classroom use.

Multiplication and Division with
Rational Numbers—Skills Practice

Multiply rational numbers.

03X (02 =_0.06

3x(-8=__24

0.3 X (—0.05) X 0.6 = _—0-009

Box9-_ 8

@ §xH-_2&
B 09 x (-05=_—045
B 7x3=_21

10 1
B[4 o

—5 X (=7) = 35

]
|
vf—
X
|
N=
I
-
o

©Curriculum Associates, LLC ~ Copying is permitted for classroom use.

Form B
Bs5x)x6x(-3=_180
o<
@ ox6-_—54
B 04x004=_—0016
—0.2X 04 X 06=_—0.048
@ 2x(ax(g=_—64
@ 6x10=_-160
@ 100 x (~7)=_ 700
Woxe=_"72
B —04 X 01 X (—0.3) X (—0.5) = _—0.006
B 05x—02x(-2x5=__1

Fuency p.m@
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Multiplication and D
Rational Numbers—Skills Practice

Divide rational numbers.

(Y- gor

-36+01=__—36

1. 1\ =%or-—
@5 (5= o
B3x:--5=_ -7
@ 90+9=_-10

-89+ 10=_—0.89
24+ (-02)=_ 120

-100 + (-50)=__ 2

-2+4=_ 8

-2+ (-6=__"7

@F.mq pracice

FormA

B 3-3=-_ 2

B 55+ -05=_—11
75+ (-25=__3
B 36-12=__ 3
-1

©Curriculum Associates, LLC ~ Copying is permitted for classroom use.

Rational Numbers—Skills Practice

Divide rational numbers.

-32+8=__—4
-48+01=_—48
frlge

Bs6--7=_"8

48+ (-4 =__ 12

—54+10=_=054

B75-(25=_ 3
100+ (-25)=__ 4
-
B30-(5=_ 6
B 48+12=_ 4

©Curriculum Associates, LLC ~ Copying is permitted for classroom use.

B 6--n=_76

a 82+ (-2 = —-4.1

L e
B g
@-70+7=_"-10

®25+(05=_ "5

-39+ (—03)=__130

32+ (-8 = —-0.4
5 1
I L

Form B
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Expressing Rational Numbers as
Decimals—Skills Practice

Write fractions as decimals.

@ i- -os
Q2= -o0s
@3- as

-3 = 275

@F.mq pracice

3= -os 8 - o5
B 2= o2 @i=- oz
B:- 6 0 -1- -4
@-2- 11 @3- s
@-5- s B:i= os3
@ 3= o046 Bi= 6
@3- 125 @3- 1125

FormA

©Curriculum Associates, LLC ~ Copying is permitted for classroom use.

Expressing Rational Numbers as
Decimals—Skills Practice

Write fractions as decimals.

B-1- os Bi- os
Q-1- o 8 1i- o3
@- 23 B-3- -
2= 45 2= 2
@3- s Bi= o6
ML= a3 B -2=- 2o
B 2= 1125 L= o583
8 . 7= O

©Curriculum Associates, LLC ~ Copying is permitted for classroom use.

[CYN)
I

2]
AN
Il

—0.75

—0.375

175

Form B

Fuency p.m@
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3 Expressing Rational Numbers as Expressing Rational Numbers as o)
Decimals—Repeated Reasoning Decimals—Repeated Reasoning 3
A
Find patterns with repeating decimals. Write each fraction or fraction sum as Find more patterns with repeating decimals. Write each fraction as a decimal. :“.
a repeating decimal. 8
SetA
SetA
1_ T 2 _ 5 3_ 3
B ) B D= o 5= 02 5= 03
3= 03 2= 08
4_ a 5 = 6 3
. B s B Bi- oas o= 05 B5- o6
3= 13 3= 16
10 _ = n_ = 12 _ 5
] 3 8 3 Q- B,-_ 12 a8:- s
£= 23 @3- q6
1 - 1 -
D= 33 8- :6
SetB
13 3 14 _ - 1= o009 2 = 3= 27
B3- a3 @Y= 46 B5- o0 8- o 8- o
4 _ e 5 _ P 6 _ s
SetB B5-_os3 8= o0 Q5= o
1 2 o 3
1 - 2 B 3 B o o —
;= o6 8- o: B:- o5 @5= o @i=- on 8= oz
1.3_ 2.,2_ 4 _ =
B:+i= o6 B:+i= os @i=- os
Describe a pattern you see in one of the sets of problems above.
% + % = 083 8] % + % = 0.83 (9] % = 083 A s will vary. Stud may see that in Set B, when a fraction has 11 as the denominator
and the numerator is not evenly divisible by 11, the quotient is a repeating decimal. The
Describe a pattern you see in one of the sets of problems above. repeating decimal is the numerator multiplied by 0.09.
Answers will vary. Students may see in Set A that when increasing the fraction by % or 1 whole,
the decimal equivalent of the fraction also increases by 1 whole.
3 8 8 Fluency Practice ©Curriculum Associates, LLC ~ Copying is permitted for classroom use. ©Curriculum Associates, LLC ~ Copying is permitted for classroom use. Fluency Practice @
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Using Properties of Operations—
Skills Practice

Write an equivalent expression without parentheses, and combine

terms if possible.

Sx+6x=_ 11X

0.5(—12p—4)= _—6p—2

B sx—6+30=_4x+6

—8x—4x+3x+2=—9x+2

B 4+7y-3y-5=_"9

@3y +7-sy=-w+21

8(6a +7) = 48a + 56

3,1, =
B x—Sx+a=_ x>

—8(x + 3) ——8x—24

9o[—3m+4]-6m= —om+36

@F.mq pracice

Bon-32n-5=_15

B3y-9= y-6

B snl)- omo>

B 450+7+35a+2= 8a+9

@ {020 +360)= 2046

B oy ax+3y+ax=__12

1 7 —
Byyr6-fy-4= —yi2

B 6+ 2x + 4(x + 5) = 6x + 26

®a3y+3y-—25=Y"7°

6.25m +9 +3.75m — 12 = 10m =3

FormA

©Curriculum Associates, LLC ~ Copying is permitted for classroom use.

Using Properties of Operations—
Skills Practice

Write an equivalent expression without parentheses, and combine terms Form B

if possible.

7x +6x=__13x

Bosx-7+50= _6x+8

—3+8 —6y—4=_2y—7

B 93a+8 =27a+72

—7(x+4)=—7x—28

—9x—5x+6x+3="8x+3

15| —2m +2) = 4m = —7m + 30

Ty +7)—1Ny=_"4y+49

0.5(-16p —6) = —8p — 3

©Curriculum Associates, LLC ~ Copying is permitted for classroom use.

B on-s5en-5=_25
@ 4+2x+7x+2= %+18

B —om 3= —om-s
@iyro-iy-2= 7

W Jo6n+29= 2043

B2y +3y—15=5y"45

@ 25a+5+450+3=_7a+8
@ 225m+7+675m—11=_11m—-4
Box—2-5x+2=_3

1 4 —
By+sy-10= y-s
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LSL

Using Properties of Operations—
Skills Practice

Use the distributive property to write the expression as a product. FormA

Problems may have more than one answer.
Ix+7=7x+1)

Bo-5- Sx-1
B4-8y=_ 0-2)
“Nx—44= —1(x+4)
Qo= 2542
25y + (-55) = —5(5y+11)
—21x + 14 = 7(=3x+2)
By+2+y=_ N+
@o+12)=__ 601-2)
By—-35=__ 56y=7)

@F.mq pracice

6y+14—8y= 27—y

@y +a=_ 4ay-1
@ -sx-16=_ 8kt

@ o+70x=__ 100 +7x

@ 2x+12-4=_ 6@-0
0y (-5)=__ Séy+1)
@sx-33=_ 36x-1)

B 7+ 210= =701 + 3x)

B sx+33+16x=__ 1x+3)
—40y +100=__ 20(=2y+5)

©Curriculum Associates, LLC ~ Copying is permitted for classroom use.

Using Properties of Operations—
Skills Practice

Use the distributive property to write the expression as a product. Form B
Problems may have more than one answer.

@ sx+s=_ 8x+1 Bs 20 12y= 45 —y)
Bsy+33+ey=_ 1y+3) O s5x+18-ax=__ 92-x
6—18y=__ 6(1—3y) @ ox-18=_ —9x+2)
94 (27 = 901 +3x) B 20-(6)=_ 2010+3y
B 24x+18=__ 6(-4x+3) M 16x—44=_ 44x—11)
4+ (6 =__ A1-4) 3+30x=_ 3(1+13%)
—4x+ 28 + 1x = 7(x +4) @30y - (6= 6By+1)
“Mx—66=__ —11(x+6) @ 20 + s0x= 20(1 + 4x)
25y — 45 = 5(5y — 9) @ 36x—6= 6(6x — 1)
—60y +90=__ 30(=2y+3) 2y + (-3) = 368y —1)

©Curriculum Associates, LLC ~ Copying is permitted for classroom use.
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Two-Step Equations—Skills Practice

Solve equations of form px + q = r with integers.

Bex+6=0
x=-1

B s5x+4=-6
x=-2

90 = 20x — 10
x=5

—15x — 45 = —45
x=0

B 97=10x+27
x=17

—127 = —50x + 23
x=3

Ix+4=-38
x=-6

mnmw pracice

-3x+9=6
x=1

B 275=25x-50

x=-9
B s6=3x+19
x=9

B 2x—14=-38
x=-2

M -6x—13=35

x=-8
8x+5=-3
x=-1

@ x-52=-15
x=25

@ 25=10x-25
x=0

FormA

©Curriculum Associates, LLC ~ Copying is permitted for classroom use.

Two-Step Equations—Skills Practice

Solve equations of form px + q = r with integers.

—4x+12=8
x=1

5x+6=—14
x=-4

30 =20x — 10
x=2

11x — 16 = —49
x=-3

B 86=10x+26
X=6

—164 = —50x + 36
x=4

—12=-9%-3
x=1

—8x + 23 =103
x=-10

©Curriculum Associates, LLC ~ Copying is permitted for classroom use.

Bsx+8=0
x=-1

B 250=25x-75
x=-7

B@3s=3x+17
x=17

B 18x-36=-36

x=0
M sx—11=45
x=-7
0=12x—12
x=1
@oux+7=-2
x=-1

B 6x+53=5
x=8

Form B
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6SlL

Two-Step Equations—Skills Practice

Solve equations of form px + q = r with rational numbers. FormA

-3x+6=99
x=-13

12x+53 =05
x=—-4

337,41
By~ 0" g

x=20

—56x+88=32
x=1

mg.mw pracice

83 = —ax+53

B o4x+15=398

X =62

2y 4=
B:x-4=36

x =60

M 82=-71+1x
x=-01

©Curriculum Associates, LLC ~ Copying is permitted for classroom use.

Two-Step Equations—Skills Practice

Solve equations of form px + q = r with rational numbers. Form B

—4x+8=128
x=-1.2

—42x+95=53
x=1

—94=-86+ 8
x=-01

B 025x-85=25
x = —44

5.1
@ 2=3x+1

—5or12
x—3or13

0.2x + 21 =496
x=143

©Curriculum Associates, LLC ~ Copying is permitted for classroom use.

B o=18-03x

— 2l =32
@ ox— 125 =232

@ —145=05x—145

3vy—6=
ZX 6 =54

@ oix+475=-15

x=30

x=0

x =80

X=—62.5
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Two-Step Equations—Skills Practice

Solve equations of form p(x + q) = r with integers. FormA
Box+4=36 B22=7x+3

x=2 x=0
56 = —8(x + 9) @ 2x—6)=-26

x=-16 x=-7

—4(x — 5) = —44 Bs5x+49=35
x=16 x=3

—6(x — 12) = 48

x=4
B 0x— 15 =-70 M 2x—13=18
x=8 x=4
—-36=12(x + 7) —7(x + 7) = 49
x=-10 x=-14
B 3x-6=24 @ 24=4x-9
x=14 x=0
—M(x+2) = —66 @ sx— 14 =64
x=4 x=122

©Curriculum Associates, LLC ~ Copying is permitted for classroom use.

@F.mq pracice

Two-Step Equations—Skills Practice

Solve equations of form p(x + q) = r with integers.

Bax+a9=32 B 2x4=4x+7
x=0 x=-1

—9(x + 5) = 54
x=-1

—12=-3x—7) B 0+ 15 =40

x=1 x=-1
Bxx-9=22 B x+8=-7
x=15 x=-7

B8 -1x-12=-77 @ 5x—16) =45
x=19 x=25

25(x — 14) = =75 42=—-6(x+9
x=1 x=-16

9(x + 8) = 63
x=-1 x=-2

-12=3(x—4)
x=0 x=-24

©Curriculum Associates, LLC ~ Copying is permitted for classroom use.

B s5x-6=-15
x=9

Form B
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L9L

Two-Step Equations—Skills Practice

Solve equations of form p(x + q) = r with rational numbers.

1 =1
—gx e =3
x=-7

—0.2w — 6) = —4
w=26

—69 = 3(x + 4.6)

xX=-69

LI
B:-¢cm-9

m=1

B 10x— 242 =50
x=29.2

1(x — 04) = 44

x=4.4
Ly +2=4
y=-22

mﬂm‘, pracice

p=0

2 _4
Biv+s-=2

y=-3

B 25p-7=-25
p=71

B 45=5x+3)
x=-2.1

1 =5
@ jn+2=-3
n=-12

@ 20=3m+9
m=16

@ 76=2m+57
n=-19

FormA

©Curriculum Associates, LLC ~ Copying is permitted for classroom use.

Two-Step Equations—Skills Practice

Solve equations of form p(x + q) = r with rational numbers. FormB

—84 =4(x + 6.3)
x=-8.4

B 10(x —31.4) =40
x=35.4

11(x — 0.6) = 66
X=6.6

1 —
B v+5=3
y=-17

©Curriculum Associates, LLC ~ Copying is permitted for classroom use.

—02(p— 4 =2

p=14
3 _3
sV 9=3
y=-7

B 5p-6=-75
p=6.1

B35=5x+49
x=-3.3

1 =_4
gn+5=-2
n=-13

@B s5=3m+e
m=19

94 =2(n+6.5)
n=-18

Fluency Practice 4 o 1
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> Two-Step Equations—Repeated Reasoning [ Two-Step Equations—Repeated Reasoning 3
3]
@ (o]
= Find patterns in two-step equations of form px + q = r. Solve each equation. Find patterns in two-step equations of form p(x + q) = r. Solve each equation. %“.
3 )
SetA SetA
7 or 81
B2x+3=19x=__28 B 2x+3=20x=_2 2 B 2x+3=2x=__°2 B 3x+3=30x=__7 B3x+49=30x=__6 B 3x+5=30x=__5
17 oral 2oral
O x+3=19x=__14 B 4 +3=20x=_4 2 @ ax+3=20x=2"""2 B3x+6=30x=__4 B3x+7)=30x=__3 B3x+8=30,x=__2

17 521 9or21
@sx+3=-19x=__ 2 B o3-20x=5"% @ex+3=2mx=2"% B3x+9=30x=_1 @3x+10=30x=_0 @ 3x+1=30x=_-1_
SetB SetB
Bo2sx-3=2x=_20 Bosx-4=2x=_24 [EJosx-5=2x=_28 B3x-2=18x=_ %8 B3xx-3=18x=_2 B3x-a=18x=_10
Bosx-3=2x=_1 @osx—4=2x=_12  @osx—5=-2x=_"4 B3x-5=18x=_1 @B3x-6=18x=_12 @3x-7=18x=_13
Bx-3=-2x=__5 Bx-4=2x=_6  @x-5=2x=_7 B3x-9=18x=_1 @3xx-9=18x=_15 @ 3x-10=18x=_16

Describe a pattern you see in one of the sets of problems above. Describe a pattern you see in one of the sets of problems above.

Answers will vary. Students may see in Set B that as the number subtracted increases by 1, the Answers will vary. Students may see that, in both sets, they can divide both sides by the same

factor and then solve for x by adding or subtracting. As the number that is added to x

answer changes by 1 + (coefficient of x). For example, in Set B in problems 4, 5, and 6, each

increases by 1, the solution decreases by 1. As the number that is subtracted increases by 1,

answer increases by 1 + (0.5) = 2.

the solution increases by 1.

mﬂuenty Practice ©Curriculum Associates, LLC ~ Copying is permitted for classroom use. ©Curriculum Associates, LLC ~ Copying is permitted for classroom use. Fluency Practice @
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Two-Step Inequalities—Skills Practice

Solve inequalities with integers.

3(m—4) <27
m<13

O -45<s5p-2
p>-7

42> 6(m + 10)
m<-3

25x — 9 < —109
x<-—-4

—8(x — 3) < —40
x>8

mﬂm‘, pracice

—13<4x+7
xX>-5

21< —7(x —2)
x<-1

B 100 -11)>-60
n>5

36 < 12w+ 1)
w>2

@ 2x—22>-8
x>7

FormA

B 2x+7<19
X>-6

B —9+10>-8
x<2

B -97<-11x-9
x<8

—130 > 50x + 20
x<-3

—35< —5(x+9)
x<-2

©Curriculum Associates, LLC ~ Copying is permitted for classroom use.

Two-Step Inequa

Solve inequalities with integers.

12w — 3) > 60
w>8

@ 75>25m-1)
m<-=-2

40 <4(n +14)
n>-4

8< —20x—3)
x<-1

6>8x+ 30
x<-3

s—Skills Practice

—5x+ 15> —30
x<9

-32> —8(x—7)
x>

B x-3<-45
X>6

50x + 6 > —94
x>-2

@ 1x+7)<-88
x>1

©Curriculum Associates, LLC ~ Copying is permitted for classroom use.

Form B

—22<1x—77
x>5

B 0x—4<-84
x<-8

B oy 16 <-63
y<9

33>3(p+7)
p<4

5x— 18 <17
x<7

Fluency Practice 4 o 5
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Solve inequalities with rational numbers.

0.5x + 0.3 < —0.7
x<-2

4<—02x+7
x<15

—%x+6<5

8 3
x>§or> 1§

12m+63<15
m<-4

B 25n-45<05
n<2

_1 1
F <2
x>1

3.1
7> +24

n<-30

mﬂmq pracice

Two-Step Inequalities—Skills Practice

FormA

1 1
z(m+8)>§
m>-6

@ 9<-01y-5
y<95

T —
O (x-20<4
x>0

B o5<0250p+8)
p>-—6

0.8x + 0.6 < 0.6
x<0

1,
@Ba+>-3x-5
x>-18

©Curriculum Associates, LLC ~ Copying is permitted for classroom use.

Solve inequalities with rational numbers.

B 02x+04<-06
x<-5

Ty —
—qo—200>2
x<0

09x + 07> 07
x>0

Te—
8>—ox—3
x>-22

LRI

1
y<g

—49x+27<76
x>-1

94 <8x+38
x>0.7

Two-Step Inequalities—Skills Practice

©Curriculum Associates, LLC ~ Copying is permitted for classroom use.

1 1
gm+16) >3
m>-12

21
5> +12)

n<-16

@ 3x+7<s

4 1
x>3or>13

B 25n-55<2
n<3

D 2x+7<12
x<6

IS |
X +3g>3
x<1

1Im+51<29
m<-=2

FormB

Fluency ractice
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SoL

Two-Step Inequalities—

Find patterns in two-step inequalities. Solve each inequality.

SetA

3(x+1)>6;x >1 —3(x+1)>—6;x <1

B3x+1>3x_~0 B 3x+1>-3x__ <0

B3xx+1>0x_ =1 B 3x+n>0x_<=—1

SetB

Bsx+2>12x_ =1 B 4x+2>-12x_ <1

B sx+3>12x_—0 O 4x+3)>-12x__ =0

B sx+a>12x =1 B sx+a>-12x_<—1

Describe a pattern you see in one of the sets of problems above.

A s will vary. Stud may see in Set A that as the factor that distributes over the sum in

the parentheses and the term on the other side of the inequality change from positive to

negative, the inequality sign reverses but the number r ins the same. For example, the

solution changes fromx>—1tox<-—1.

©Curriculum Associates, LLC ~ Copying is permitted for classroom use.

F.u,m pracice

s—Repeated Reasoning S

Two-Step Inequa

Find more patterns in two-step inequalities. Solve each inequality.

SetA

B 2x+2>-4x =3 B 2x+2>-4x <3

3x+2>74;x >-2 n73x+2>74;x <2

3 11
> or> 12\

3 1)
-2 <Jlor<1ig|
B 4 +2>—4x 2| / B »+2>-4x_2 2/

SetB

0.5x — 2> —3;x >-2 —0.5x — 2> —3;x <2

B osx—3>-3x_ =0 @ -o05x—3>-3x_ <0

Bosx—4>-3x_~2 B o5x—4>-3x =2

Describe a pattern you see in one of the sets of problems above.

A s will vary. Stud may see in Set B that as the coefficient of x changes from positive

to negative, the inequality sign in the solution reverses and the value of x changes from

positive to negative.

©Curriculum Associates, LLC ~ Copying is permitted for classroom use.
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